Quizizz

Inequalities Tier A
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a) x>1 0 b)1=2x
C) xis greater than or equal to 1 [ d) xis less than or equal to 1

Solve +he e%m—h‘m-

m-5>10
a) mis less than 15 [J b) mis greater than 5
€) mis greater than 15 [J d) mislessthan5s
2k >18
a) k is greater than 20 [J b) kis greater than 9
) kis greater than 18 [J d) kisless than 36
8x 2-32
a) x=-4 J b) x=24

) xs-4 ] dx=4
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s+92-25
a)s=2-mIL
c) ssBlb

4x -2 s-22
a) x2-5

) xs-6

7b-3 <11
a)b<2
<) b>2

2h-6>42
a) h<24
c) h>24

1+3r>10
a) r<11

c) 27>r

-7+10z>-27

[0 a)yz<-2
b) z>-34
dyz>-2
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b) s=-34
d) s=34

b) x=-6
d) xs-5

b) 84>b
d) b<84

b) 18 >h
d) h<-12

b) r>3
d) r>27

) 2>z
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solve the inequality.
x+5s13

a) x=8

) xs8

102x-3 or write:
a)xs13

) xs7

25<X-10 or writ '
a) X>35
¢) X>-35

28>m-4 Of write !

a) m<32

c) m<24

28>m-4 Or wWrite!

a) m<32

) m<24

X-3% 10

X—10>38

m-4 £ 2%

Mm-4 £ 2%

O 4

O 4
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b) x=18
d) xs18

b) x=13
d) x=27

b) X <35
d) X<-35

b) m>32
d) m>24

b) m>32
d m>24



